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oY R &R No K% FhE IBAL FP B = 2L Bk =53

RIS 1 103 XH HEpE BETESKR 1 34 1.36.490
2 104 By [EE HHHEER 1 21 1.37.250
3 101 WA &5 Vortex 1 13 1.37.540
4 114 WH & HHEER 2 8 1.37.790
5 112 RIF Mz REH R 2 5 1.37.920
6 113 A BX AR 2 3 1.42.770
7 102 AH MR ALEX 1 2 1.44.890
8 117 tngg L4 EXRAT—NDEF 3 1 1.44.950
9 108 BKX BRMESIER 3 1.45.920
10 115 WA #X EHERRER (R) 4 1.46.170
11 109 kFE EC FAMBEE ISR 2 1.46.720
12 116 FIER Bk EHFRNER 3 1.46.770
13 106 =t EE IHERFZR (B) 3 1.46.790
14 107 &H &= BAlRZERR 4 1.48.800
15 105 f&E  BEsk HHEER 4 1.52.920
16 110 B B B5) 1|2 4 1.54.530
17 111 |E KN BS) 1R 5 2.13.610
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